
Time: 10 Minutes Paper Math 4 Total Marks: 10

4th  Month, 1st Week, 3rd Day Syllabus: Unit 4: Exercise − No. 1 Q No. 4

Q.No.1 Encircle the correct answer from the following choices. (10)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. In 7.45, 7 is at ______ place. »»»»££££xxxxìììì:::: 7~~~~7.45

(a) One Z»ð (b) Ten Š;ð (c) Hundred %{ (d) Thousand DÙZg

ii. In 26.9, 2 is at ______ place. ££££xxxx6666,,,,ììììXXXX _________ÔÔÔÔ2~~~~26.9

(a) One Z»ð (b) Ten Š;ð (c) Hundred %{ (d) Thousand DÙZg

iii. 5 is at hundred place. The place value of 5 is: 5 × _____ =_______.

.______ = ______ × 5  = ÅÅÅÅ££££òòòò7777 5 %%%%{{{{ÆÆÆÆ££££xxxx6666,,,,ììììXXXX 5

(a) 10 = 50 (b) 100 = 500 (c) 1000 = 5000 (d) None Ãð7

iv. In 87.391, the place value of 8 is: ÅÅÅÅ££££òòòò7777ìììì:::: 8~~~~87.391

(a) 8 (b) 80 (c) 800 (d) 8000

v. If 7 is at one's place, the value of 7 will be: ZZZZ»»»»ððððÆÆÆÆ££££xxxx6666,,,,ƒƒƒƒÂÂÂÂZZZZkkkkÅÅÅÅ££££òòòò7777ƒƒƒƒÏÏÏÏ:::: 7 ZZZZ¤¤¤¤////

(a) 7 (b) 70 (c) 0.7 (d) 700

Q.No. 2  Fill in the blank:       (1  × 5 = 5) {{{{àààà((((%%%%ææææFFFFNNNN™™™™,,,,:::: :2 ÎÎÎÎZZZZwwww����

(i)   1 is at thousand place. The place value of 1 is: 1 × _____ = _____.

________ = _______ × 1  ÅÅÅÅ££££òòòò7777ƒƒƒƒÏÏÏÏ:::: 1 ZZZZ»»»»ððððÆÆÆÆ££££xxxx6666,,,,ììììXXXX 1 

(ii)   If 3 is at tens place them  9 × _____ = ______. 

 _____ = ______× 3  DDDDÙÙÙÙZZZZggggÆÆÆÆ££££xxxx6666,,,,ƒƒƒƒÂÂÂÂ:::: 3 ZZZZ¤¤¤¤////

(iii)   If 9 is at thousand's place then:  9 × _____ = ______.  

 _____ = ______ × 9 DDDDÙÙÙÙZZZZggggÆÆÆÆ££££xxxx6666,,,,ƒƒƒƒÂÂÂÂ:::: 9 ZZZZ¤¤¤¤////

(iv)   If 2 is at tens place then:   2 × _____ = ______.  

 _____ = ______ × 2 ŠŠŠŠ;;;;ððððÆÆÆÆ££££xxxx6666,,,,ƒƒƒƒÂÂÂÂ:::: 2 ZZZZ¤¤¤¤////

(v)   If 9 is at hundred's place then:   9 × _____ = ______.  

 _____ = ______ × 9 %%%%}}}}ÆÆÆÆ££££xxxx6666,,,,ƒƒƒƒÂÂÂÂ:::: 9 ZZZZ¤¤¤¤////
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